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4 (a) A student is using a bubble sort to rearrange seven numbers into ascending order.

Her cotrect solution is as follows:

Initial list

After 1st pass
After 2nd pass
After 3rd pass
After 4th pass
After 5th pass

13 17 10 14

Write down the number of comparisons and swaps on each of the five passes.
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(6 marks) |

(b} Find the maximum number of comparisons and the maximum number of swaps that
might be needed in a bubble sort to rearrange seven numbers into ascending order.
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Figure 1 (for use in Question 6)
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7 ([Figure 2, printed on the insert, is provided for use in this question.]

The network shows the times, in seconds, taken by Craig to walk along walkways connecting
ten hotels in Las Vegas.
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The total of all the times in the diagram is 2280 seconds.
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Craig is staying at the Circus (C) and has to visit the Oriental (O).

Use Dijkstra’s algorithm on Figure 2 to find the minimum time to walk from

Cto O. (6 marks)
Write down the corresponding route. CASING (1 mark)
Find, by inspection, the shortest time to walk from 4 to M . (1 mark)

Craig intends to walk along all the walkways. Find the minimum time for Craig
to walk along every walkway and return to his starting point. (6 marks)
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